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#include <stdio.h>

int main(void)

{

printf(” \n”);
printf(” Akita National College of Technology\n”);
printf (0000000000 \n”);

(
(

(
printf (”\n”);
(

(

(

© 00~ U WN -

10 printf(”Yamamoto Masashi\n”);
11 printf (0000 \n”);
12 printf(” \n” );

14 return 0;
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1 | #include <stdio.h>
2
3| int main(void)
1| ¢
5
6 printf(” \n” );
7 printf (?O00\t0 0 O \tO \n”);
8 printf(” n”)
9 printf(?p\t0 O \t0.000000000001\n” );
10 printf(?n\t0 O \t0.000000001\n” );
11 printf ("m\t0 O \t0.001\n");
12 printf (?k\t0 O \t1000\n”);
13| printf("M\t0 0 \t1000000\n” );
14|  printf(?G\t0 O \t1000000000\n” );
15 printf(” \n” );
16
17 return 0;
18| }
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1 | #include <stdio.h>

2

3| int main(void)

4

5 int a, b, ¢, d, e, f, g;

6

7 a=>543;

8| b=123;

9

10 c=a+b;

11 d=a—b;

12 e=axb;

13 f=a/b;

14 g=a%b ;

15

16 printf ("% 4+ %d = %d\n” ,a,b,c);
17 printf ("%d — %d = %d\n” ,a,b,d);
18 printf ("% * %d = %d\n” ,a,b,e);
19 printf(”%d / %d = %d\n” ,a,b,f);
20 printf (?%d %% %d = %d\n” ,a,b,g);
21

22 return 0;

23 | }
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543 + 123 = 666
543 - 123 = 420
543 * 123 = 66789
543 / 123 = 4
543 % 123 = b1
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1 | #include <stdio.h>

2

3 | int main(void)

4| {

5 int one, five, ten, fifty , total;
6

7 printf (710 00 O O?\t”);

8 scanf ("%d” ,&one);

9

10 printf(?50 00 O O7?\t”);
11 scanf ("%d” & five);

13 printf (7100 0O 0 0O O?\t”);
14 scanf ("%d” ,&ten ) ;

16 printf(?500 0 0 O O7?\t”);
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scanf ("%d” & fifty );

total = one+5xfive+10xten+
printf (’000000%d00 0O

return 0;

50« fifty ;
\n” ,total);
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+R; 000000000000 (@00000

#include <stdio.h>

int main(void)

{

double R1, R2, R3, Ra, Rb;

printf (?R1000 ?\t”);
scanf ("%1f” &R1);

printf (?R2000 ?\t”);
scanf ("%1f” ,&R2);

printf (?R30 00 ?\t”);
scanf ("%1f” ,&R3);

Ra=R1xR2/(R14+R2)+R3;
Rb=R14R2+R3/(R2R3);

printf(”00 (a)
printf (?00 (b)

return 0;

ooooooo
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ugbobosgbnooab rO0r =

s/mO0000000

#include <stdio.h>
#include <math.h>

int main(void)
double s,

r;

printf (0000 7?\t”);
scanf ("%1f” &s);

r=sqrt (s/M_PI);
printf (?0000%f0 O O \n”

return 0;
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#include <stdio.h>
#include <math.h>

int main(void)
{
double deg, rad, x;

printf (?O007?\t”);
scanf ("%1f” ,&deg);

rad=deg /180.0x M_PI;

x=sqrt (0.57%0.574+0.3%0.3 —2.0%0.57+0.3xcos(rad));

printf(?x0 0%f0 O O \n” ,x);

return 0;
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